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. Jano: ABCD — keaopam

Haimu: P AMCK » S AMCK
B

1
M

1
SAKD — EKD x AD



Aano:  ABCD — npsamoyeonbHuk

. 1
Haumu: PABO, S 450 Sakp = EKD * AD
B S C
T
6
A D



Hdano:  ABCD — npamoyzonbHux,
AB =8, AK : AB=3:8,CP:CD =3:8

Haumu: PDKBP, S pap S xzp = DP* DA

A K 3 B



Hano:  ABCD — napannenocpamm

Haimu: AD,DK,S ;-

B




Mano: ABCD — pomb
/1< /2 na30’

Haumu: AB, S ABCD
B
<

A .



6 Jamo:  AABC, AC =10, BC =8

Haumu: KE



- Jano: AABC, AB-BK = CB-BP

Haumu: AK




& Hano:  AMNK, MK =8

Haimu: PK
N




-2 Jano:  ACIIBD

Haiumu: CO, OB




10. Jlano:

Haumu:

ABCM —mpaneyus

S ABCM
B S C
o L
K P



W JMano:  ABCD — mpaneyust

SBOC

Haumu:
\) AOD



12.° JTano:  ABCD — mpaneyus, KEN1BC
Haiumu: ‘ ME — KM

B 6 C



13- Jano:  ABCD — mpaneyus
MKIIAD

Haumu: NP




4.0 JTMano:  ABCD — mpaneyus

Haiumu: P




13- Jano:  ABCD — mpaneyus

SABC

Haumu:
S ACC

B 8 C




16. " Tano: AABC, Okp (09 R)

Haiimu: ZAOC, P,




7. JMamo:  ABCD — mpaneyus

Haumu:




18- Jano:  Oxp(O, R)

Haiumu: U Bmm




- Jano:  Oxp (O, R)

Haimu: /BEC




2.0 Jawo:  Oxp(O,R), AC=13

Haumu: AM, MC B A

\/



2. Jano:  Oxp O, R)

Haumu: <£BAD, ZBCD




2. JMano:  Oxp. O, R)

Haiimu: Venvt AABO
B

\
N




B Jano:  Oxp (O, R)

Haiumu: ZLACB, ZCAO B




24. . Tano:  AABC, AC =8

Haumu: AQO, BO, CO




25 Jlano:  AABC — pasnocmopoHHuil

Haumu: 4B B




26. o
Hano:  AABC — pasnocmoponHu

Haumu: AR B

A C
<



. Jamno:  Oxp.(O,R)

Haimu: 2£C, ZD




8- Jano: U BK =40°, U AM =100°

Haimu: /ABM, /BMK, /ACM

A




28 Jano:  ABCD — npsimoyeonbHuK
Oxp(0,04), AC =10, S ., =48

Haumu:




30- Mano: OKp.(O, 7CM), NK :MP=7:6
S ovip =182cm”®, PK > MN na 6 cm
Haiumu: MN, NK, KPNMP




